Name: Date:

Teacher: Class:

Match-Ups Subtraction

What has teeth but doesn't bite? A Comb!

Match each equation on the left with the correct answer from
the column on the right. Right the letter for the correct answer
on the line provided.

1. ]a. 2-2 = Ce eC=0
b. 5-4 = B A=2
c. 3—-1= A D=5
d 9-4-= D E=6
e. 13-7 = E B =1

2. la. 8-1= E C =17
b. 11-9 = A E=7
c. 18-1= C B =1
d 8-2= D A=2
e. 3-2 = B D=6

3. la. 13-2 = E B=3
b. 17-11 = D C =17
c. 19-16 = B A=1
d 19-2 = C E =11
e. 7-6 = A D=6

4. la. 7-3 = Ek\\\\\\\\\ D =
b. 4-1 = Ce //////:C=
c. 5-2= A o oA =3
d. 19-11 = B:::;7411::::;§‘\;::::::::E=4
e. 18-16 = D B=38

S.la. 6-1 = A C=12
b. 13-1 = C B =1
c. 16-1 = E D=1
d 7-6= B E=15
e. 3—-2 = D A=5
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